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Topic:- General Knowledge and Logical Knowledge

1) Where is Sanskrit University located in Madhya Pradesh? / H& m | '\"ﬂﬁ‘ﬁf ﬁ"dﬁ'ﬂm W\ﬂaﬁf %?
1. Jabalpur / SISTYR

2. Ujjain / IS

3. Bhopal / HiaTd

4, Indore / E_C?R

Correct Answer :-

e Ujjain / IS

2) Name the rivers that originate from Amarkantak Hill of Maikal range. / AP IS Bl SFRBH 'CIFIEﬁ I

I B grel Afeal & 919 Ia18el
1. Narmada and Son / THaT 3R WA

2. Narmada and Tapti / Trer SR Tt
3. Kaveri and Sindhu / STk} 3R g

4. Son and Kayshypa / TH 3R ST

Correct Answer :-

o Narmada and Son / '_'N:ial @T@q

3) Which state was the current Chief Minister of Uttar Pradesh, Yogi Adityanath born in? / S UST &

TAAT FEHAT, TR STIEATS BT S foe 9 | g3 UT?
1. Uttarakhand/ STRIES

2. Uttar Pradesh / SR U

3. Himachal Pradesh / fgHTm=d Ua=

4. Jharkhand / RIS

Correct Answer :-

()



o Uttarakhand/ 3TRIGS

4) Which language has the authors who have won the most number of Jnanapith Awards? /fPa v &

TGS TN HUF IR TS RIBR o TG T E?
1. Hindi / 7]
2. Marathi / AT

3. Kannada / dg
4. Tamil / I8

Correct Answer :-

e Kannada /®dS

5) Which of the following projects in Madhya Pradesh has won the Aga Khan Award for Architecture? / H&

wex B1 Faffad # @ few ulvaierr A argearn @nfhewr) & g Uew M O REPR Sfidr 82
1. Slum Networking, Indore / XTH _:]E_d'%rf, 3@'\7

2. Atal Ashraya Yogana, /3cdl 33 IS

3. Aero-City, Misrod / @—ﬁl?_pf, m_d

4. Apni Zameen, Apni Chhat / SO STH, 3! &d

Correct Answer :- ” | D “

¢ Slum Networking, Indore / ¥IH W, 3@'\7

6) India helped in building the Parliament of which country? / HRd 4 {59 ¢x1 & Tve o & Seraar o
1. Afghanistan / STHITRAT

2. Iran/ é?'l:f

3. Sri Lanka / #ieiepT

4. Bangladesh / CLEGIEE]

Correct Answer :-

« Afghanistan / BT

7) Alkaloid Factory is located at / QWVEE DR qﬁ@-ﬁ %:
1. Mandsaur / 8RR

2. Neemuch / 1

©)



3. Dhar / YR

4, Ratlam / Idd™H

Correct Answer :-

« Neemuch / =

8) What was the name of the impressive routine performed by Dipa FUPR GRI Y Wu%na?n?ﬁm&r Ca)
TH RIT YT? Karmakar at the 2016 Rio Olympics? / 2016 oo siicifue & dtur

1. Vyacheslav vault / AT dTee
2. Produnova vault / WIgHIaT dTee

3. Pavlushka vault / UTd&hT dleC

4, Veniamin vault / %ﬁqh‘-l:r dlec

Correct Answer :-

e Produnova vault / an:n?ﬂ dlec

9) “Vijay Amirtraj’is associated with / oo SRS SO HafYd g
1. Football / Hedld

2. Hockey / ﬁﬁ

3. Cricket / fhdhe

4, Tennis / T

Correct Answer :-

o Tennis / ¢

10) Where was India’s first submarine museum established? / HIX<d DT UGl Wﬂ'ﬂ?ﬁ HUGTad wal wITfud
far a2

1. Mumbai / Hﬁrs“

2. Panjim / uform

3. Kochi / DI

4. Visakhapatnam / faemarev

Correct Answer :-

« Visakhapatnam / [a=IRaTgeTq



11) In which year did India most recently host the Asian games? / BT 81 § food 99 & URd A TRATE Il
$t Aoral D1 A

1. 1982
2. 1985
3. 1980

4. 1984

Correct Answer :-
e 1982

12) The States of India which have common border with the state of Goa are / HIRd & 9 I aﬁmﬁﬂﬁ %',
S 3rueit AT AT Isg & HTY A3 B 82

1. Karnataka and Maharashtra / e GhT HeRIY

Id Y
2. Karnataka and Kerala / Bce 3R 3R
3. Tamil Nadu and Maharashtra / Af&el qrg 3R HeRTY
4. Andhra Pradesh and Gujarat / 3{T¢J TSI 3R TSIRId

Correct Answer :-
e Karnataka and Maharashtra / HAlcH GﬁT HERIY

13) The Constitution of India originally comprised of  / HI¥d & dfqe= o qgad: YT GHIQY
3l

1. 29 parts / 29 HIIT

2. 20 parts / 20 HIIT

3. 22 parts /22 HRT

4. 25 parts / 25 HIT

(S‘orreci‘:‘l-‘\nswer -

e 22 parts /22 HI

14) Who succeeded Jayalalithaa as the general secretary of ATADMK after her death? | STg@ferar ﬁqsg Cg

qI¢ TIATSUSITHS & TgTRa & dR R b aweran fiyel?
1. Edappadi K. Palaniswami / TSU o, G- IarH

2. M. Thambidurai / TH. %fSgg

3. O Paneerselvam /3{I. TRAcaH

(5)



4. SasikalaNatarajan / QRGBT TS

Correct Answer :-

» SasikalaNatarajan / SIRENIE SR

15) Who was the first woman speaker of the Lok Sabha? / ABIHT a'ﬁqé?ﬁ 'FI'%GT T CaC A
1. Mamata Thakur / HHdI STPR

2. Sushma Swaraj / JYHT TR

3. Maneka Gandhi / HepT i}

4. Mecira Kumar / HRT PHR

Correct Answer :-
+ Meira Kumar / HR1 $AR

16) Who is regarded as the Father of Indian Space Programme? / {8 HIRAIT 3iaf¥el HRIHH &1 SHD
HTET ST 82

1. Vikram Sarabhai / ﬁwwm—s‘
2. CV Raman / 91 @ THT

3. David Dhawan / Sfdg 9d9

4, Satish Dhawan / =T ¥aq

Correct Answer :-

e Vikram Sarabhai / [dspH mlﬂ_{

17) Find the odd one out: /Q’G?ﬁ'qtl' id aﬁﬁrq:
1.(2-8)

2. (5—125)

3.(4-32)

4, (3-27)

Correct Answer :-

. (4-32)

18) Find the odd one out: / T faUH 19 HIfoIT:

1. Water / O
(6)



2. Ink / 18T
3. Brush / §IRT

4, Paint /ﬁ’cr

Correct Answer :-

e Brush /ST

19) After tossing two coins simultaneously, what is the probability of getting one head? / &l Rl &1 Uh AT

IBTA & YT, TH MY & S B UTRiwar fvasit 82
1. 172
2.1/3
3.1/4

4. None of the above / SWRIgd § I ?ﬁé 71'60[

Correct Answer :-

e 172

20) If CLASS is coded BJXON, then how is RADIO coded? / Tf¢ CLASS &1 BJIXON ¥ ®ifSd [T SITdT &,
W RADIO P $ HifSd fpar S

1. QYAEJ
2. QYBEJ
3. PYAEJ

4, QXAEJ

Correct Answer :-

21) 1n arowof 16 boys, when Girish was shifted by two places to the left, he became 7 th from the left end.

What was his earlier position from the right? / 16'333%3%@'5]%'&, wﬁrﬁmaﬁaﬂz Gﬁ?ﬁmw
RN fbar mar, &) 9 91 SR /77 81 1| 1feR TR | SHBT I VI T UT?

1. 10 1091
2. gthy g
3. 11ty 11T
4. 6/ 6T

Correct Answer :-

(7)



22) The series given below contains a sequence of numbers. Identify the incorrect combination: / B!
3 1 kg #, =1 BT TP HH UG &1 Tad SGIeT TgHg

4,23, 60,123,212

1.212

2.4

3.123

4. 60

Correct Answer :-

« 123

23) The series given below contains a sequence of numbers. Identify the incorrect combination: / W=
3 € g §, T=a1Sl BT TP B SRR § | Tad ST Ygang:

3,8,15,24,35,49

1.24

2.49

3.15

4.35

Correct Answer :-
e 49

24) The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form the words.

| T P IHafRYd 3R A1 feT TN &1 UA® 2MeR H Wi d fhar T 81 Weg & fFmior & forw 39
oy o1 9= Fifcre S S@mel gR1 SR = § 3eRf @1 98l %H &) a1 2|

TLEMNA
123456
1.5,3,2,4,6,1
2.2,6,4,5,3,1
3.3,2,4,6,51

4.4,3,5,1,6,2

(8)



Correct Answer :-

25) Complete the series choosing the missing number: / oI AL FAB YT B GRT BITOTT:
1000, 729, 512, ;216

1. 340

2. 345

3.343

4. 347

Correct Answer :-

e 343

26) Complete the series choosing the missing number: / T &I JABR Gl T PifoTe:
134, 245, 356, 467,

1. 568

2.478

3. 578

4. 579

Correct Answer :-

* 578

27) Complete the series choosing the missing number: / oI TBAT FAB YTAT B GRT BITOTT:
121, 144, 169, ;225

1. 198

2. 190

3.200

4. 196

Correct Answer :-

» 196



Arjuna Award is given for outstanding performance in / 3[GH R¥®R 59 &3 H S&p¥ WA & forg
fera wiman @:

1. Sports / I

2. Literature / ITiecd
3. Music / 1fld

4, Science / ﬁ?ﬂq

Correct Answer :-

» Sports / ad

29) If JAIPURis coded KBJQVS, then how is KANYAKUMARI coded? | Gfe JAIPUR &Y KBIQVS A
HIfSd foa1 ST 8, 97 KANYAKUMARI S 8 Diisd fHar SREm?

1. LBOZBLVNBSJ
2. LBMZBLWNBSJ
3. LBMXBLVNBSJ

4. LBMZBMBNVSJ

Correct Answer :-

e LBOZBLVNBSJ

30) If SCENEis coded TDFOF, then how is CLIMATE coded? | Uf¢ SCENE &Y TDFOF ¥ ®ifgd fvar
Al 8, 9 CLIMATE S &8 Sifed far e

1. DMIJNBTE
2. DMJNBUF
3. DMJNBUE

4. DMKNBUE

Correct Answer :-

« DMJINBUF

31) If tuhina means fire, arka means moon, varimeans sun, chandra means water, dhara means
snow and hima means airand ani/ means earth.

Which among these is at the centre of the solar system / gfe tuhina &1 3 fire %, arka @1 34 moon
%, vari®1 3d sun %, Chandra &1 A4S water%, dhara @1 3y snow%, 3R hima o1 A4S air% 3R anil &1
3 earth 3, MTTH A BT IR TSA P Fx A 82

1. tuhina

(10)



2. vari
3. chandra

4. hima

Correct Answer :-

o vari

32) Who among the following is NOT a maestro of Tabla? / IEEINIEECR: K an] T q9dT I aIGd gl

&

1. Kishan Maharaj /WW

2. Zakir Hussain /GT@T\’@:I

3. Shiv Kumar Sharma / QIHWRWZIT
4. Nikhil Ghosh / FRge a1y

Correct Answer :-

« Shiv Kumar Sharma / RagaR zmf

33) If day-after-tomorrow is Sunday, what was day-before-yesterday? / gfe wa & uyTa arer feq
IR § 9t va & gd $i= A e ar

1. Saturday / R0 AR

2. Friday / R[PdR

3. Wednesday / §UdR
4. Thursday/ J[¥dR
Correct Answér k-

» Wednesday / §HUdR

34) Which city in Maharashtra docs NH44 pass through? / TERTY H H1 | WG¥ TITT44 3 Ol 62

1. Nagpur / FTYR
2. Nashik / FTR¥b

3. Pune/ gﬁf
4. Aurangabad / 3fTTeTe

Correct Answer :-

» Nagpur / FTYR



35) Which city is called the Queen of the Arabian Sea? / m LIRS Al SRd HegHITIY Cdl TFﬁ ‘el Slldl %?
1. Mangalore / HTAR

2. Pune / g@[

3. Trivandrum / a0

4. Kochi / Tt

Correct Answer :-

« Kochi/ =t

36) In a certain code language, tom pom yum means ron is crying, som yum pin means harry is
laughing, cim fem som means roma laughing too. Which is the word for pin in that code language?

[ TP W™ PIS YT ﬁ, tom pom yum 1 3 ¥ ron is crying, som yum pin o1 3l ] harry is laughing, cim
fem som®1 34 roma laughing too'Ea?IT %l e PIS YT A pina? ﬁl‘l{ 59 g &1 3'\‘%111?[ o mar %?

1. roma
2.is
3. ron

4. harry

Correct Answer :-

37) Select the option that is true about the Statements and Conclusions given:
Statements:

Some jewels are not gold

Some bangles are not jewels

Conclusions:

I. Some bangles are gold

I1. Some jewels are bangles

/ 39 faeu &1 99+ PR Sife Ry T Hy=t &R fFeewt & IR & gt 2:
BY:

O AT T TG B §

e,

I $ YN IFeTi 8

1. only conclusion II follows / Had A=Y 11 SIFERUT pdl %
) i (12)



2. only conclusion I follows / &dd MwhY | S{FHROT Pl g
3. neither conclusion I nor conclusion T follows / 7 &1 feart 1 3R 7 & fsht 11 TR0 v §
4. both conclusions I and I follows / fsF 1 3fR 11 g ST FRAE

Correct Answer :-

» neither conclusion I nor conclusion II follows / = E»pf sy 1 G'ﬁ?:f_‘épf fpd 11 ST W%

38) Select the option that is true about the Statements and Conclusions given:
Statements:

No plates are bottles

Some bottles are tissues

Conclusions:

I. Some tissues are plates

I1. Some tissues are not plates

/ 39 faweq &1 ga+1 Sifvg i fou T Hy=T iR el & o & 9t &:
FY:

PIs Wi dIad g1 &

PO diaa ey 7

e
I. 9 Ry @e ?
II. 53 Ry @We 78 @

1. only conclusion II follows / I BT 11 S{FERU[ hdl ?

2. only conclusion I follows / Had (Y | TR pRdl %

3. neither conclusion I nor conclusion II follows / ﬁ fpy 1 Gﬁ?:fé)[ frpy 11 ST mﬁ%
4. both conclusions I and II follows / TR 1 3R 11 Gl SR Rl g

Correct Answer :-

« only conclusion II follows / Had A=y 11 ST hdl %

39) Select the option that is true about the Statements and Conclusions given:
Statements:

All shampoos are soaps

Some shampoos are not oils

Conclusions:

I. All oils are soaps

I1. All soaps are oils

/ 39 fapeu &7 T P sifer fow e $Y=T iR el F IR 7 gl 8:

(13)



DY:

Tt g A9 &
$o g a9 TE 3

frem:
Lt daargT 8
IL gt Qg da &

1. only conclusion II follows / Had ey 11 SR Hdl g

2. only conclusion I follows / FHad fAspy 1 SR pRdl %

3. neither conclusion I nor conclusion II follows / 7 &1 fer 1 3fR 7 g} fst 11 ST A
4, both conclusions I and II follows / ﬁ'@ﬁh GﬁT 1I aﬁr S{FERUT mﬁ %’

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 B FIpY 1 aﬁwﬁﬁwﬁ 1T 3R W%

40) Select the option that is true about the Statements and Conclusions given:
Statements:

Some rubble are not grapes

All rubbles are mangos

Conclusions:

I. Some mangos are not grapes

II. All mangos are rubbles

| 39 fawred &1 791 ST wife fE T FuHi ok sl & IR & 98 &:

BY:

PO 90 AR TR @

|t Yaa M §

Arew:

I $ 3T IR T

I 9t e vea

1. only conclusion II follows / Had fHY I SFIIRUT FRl §

2. only conclusion I follows / Fad fISHY I SFERUT BT §

3. neither conclusion I nor conclusion II follows / 7 &1 &R 1 3R 7 €1 Fh 11 3F¥R0T Rl &

4. both conclusions I and I follows / fsF 1 3fR 11 gH ST FRA G

Correct Answer :-

 only conclusion I follows / Had (Y | ST hdl %



Topic:- Mental Ability and Mental Aptitude

1)

The product of (3++2)(\3+42) and (5-+2)(\B-+2) is: 1 (B+42) (+42) 3R(S-42) (B-42)

T IOTARA &:
O

1.2
2. None of the above /mﬁﬁﬁéqﬁ
3.1

4.0

Correct Answer :-

HHT FidT & FREN?

e0e eC®
ol I | Jel
ece cOe
1 i 1 i

808
elele
[ 1aY ]

(15)



Ce0
eCe
080

4.

Correct Answer :-

o] 1o
L I8Y
[ IO
3) .
In the sequence shown below, which figure comes next? / ai=l &3 R & &, 3dTell
AT Sl AT 3RE?
f.e"‘i._" | i i
Loyt ok | [{ ] )
i ( ll *-,\__ "'J | I\( _,.“"
1
Iy = "'ﬁv
4]
[
1.
‘:‘.I‘rﬂ:—‘.’-‘\".
/N
2.
,,-‘-‘4.“"
Q)
4 || ,
3.
*1
4,



Simplify: / T &L
C[at e 19 = .1
1+ [31+ {2-1+ 1 4][}]]

1.1
2.4/3
3.13

4.2/3

Correct Answer :-

e 2/3

5)

IT the following two squares shown below overlap, which one of the following options

is formed? / afg e ar g9t ifa=nag gid &, ar Wed & & Fi7 41 v &ehed gaaT1 872

T WD

Gl
(55 S

(17)



Correct Answer :-

6) Three different containers contain 130 litre, 442 litre and 234 litre of milk respectively. What biggest
measure can be used to measure all the containers exactly? / A1 Tafs T S HRT: 130 ¥R, 442 Wi 3R
234 HIeR U T T 1 B 91 T F3T T wft ursl ) 9l | urve & e uged 8 a@ar g2

1. 17 litre / 17 TR
2. 13 litre / 13 ©eX
3. 11 litre / 11 @leX

4. 26 litre / 26 WICR

Correct Answer :-

e 26 litre / 26 TICR

7) Three friends Ram, Raghu and Rajesh start running around a circular stadium and complete a single round
in 18, 30 and 36 seconds, respectively. After how many minutes will they meet again at the starting point? Kik]

aﬁwm Y 3R IR T MATHR R ISTH & AU SIS & 3R TH TRT IFH HU: 18, 30 3 36
IHs T Fd ¢l fha- fiFe 918 ot R=ared g w e

1. 12 minutes / 12 e
2. 3 minutes / 3 TH9IE
3. 6 minutes / 6 THAC

4. 5 minutes / 5 T E

Correct Answer :-

« 3 minutes /3 e

8) A man travels a distance of 61 km in 9 hr. If he travelled partly on his bicycle at 9 kmph and partly on foot
at a speed of 4 kmph, the distance he travelled on foot will be: / Th J&Y 9 He H 61 fH &1 g St %I gfe

(18)



A iR U A 9 fpdl Ui ger I "rsfed R iR 4 foHt ufa e 9 Uea g ot § 91 9P gR1 e
T B T g3 BHIL:

1. 30 km / 30 TpHT
2.25 km /25 fBHT
3. 16 km/ 16 foo At

4. 45 km / 45 TopHt

Correct Answer :-

o 16 km/ 16 fopmit

9) A man starts from Mumbai and travels at a speed of 8 kmph and to reach Pune in 25 hrs. Find the distance
between the two places. / T =Y Hds A YR Hdl g 31IR 25 Hel A YAT ugd- & fore 8 foedt ufa ger ot
TS A AT BT 31 S A & o o1 gl 91 B

1. 150 km / 150 Top#Y
2. 200 km / 200 ToHT
3. 250 km / 250 et

4, 100 km / 100 oot

Correct Answer :-

« 200 km /200 foeet

10) What number must be added to two numbers, which are in ratio 5 : 12, so that the new ratio becomes 3 :

42 /5 : 12 % ST aTeil g1 H=mel # oI A} "' St s TR o fob 7 srgurd 3 ¢ 4 g Sme
1.16

2,12

3.5

4.8

Correct Answer :-

- 16

11) T am three times as old as my son. Five years later, I shall be two and a half as old as my son. What is my
present age? / ¥ 3R T A 9 AT IST § | Ui a4 a7, & 30+ T F 218 a4 IT 81 9 | Tt aduH
3T AT ]?

1. 45 years / 45 GL

2. 30 years / 30 GL

(19)



3. 60 years / 60 EL

4. 20 years / 20 Gl

Correct Answer :-

o 45 years/45 L

12) Simple interest on Rs. 2400 at 18% per annum for 9 months is: / 9 EEK Y fore 18 wfcr=ra @t T R
2400 ¥UY TR ATYRT TS g:

1. Rs. 291 /291 U4
2. Rs. 200 / 200 34T
3. Rs. 198/ 198 ST

4. Rs. 324 /324 30

Correct Answer :-
e Rs.324/324 309

13) The ratio of the present ages of two sisters is 1 : 2 and 5 years ago, the ratio was 1 : 3. What will be the
ratio of their ages after 10 years? /amﬁwmmm 1:28 3R sad uga SIJUTd 1 : 3 YTl
10 Y TYTE, STD1 3T BT SUTd T T2

1.2:3
2.1:2
3.3:5

4,2:4

Correct Answer :-

14) The marked price for a wrist watch is Rs. 450, but the factory supplies it to a recognized dealer at Rs. 390
per watch. What is the rate of discount allowed on each wrist watch? / WI—E;: 'EK‘& &1 3ifba HT 450 I %,
TR PRUMT 5P WP d fdave B 390 U ufa gSt T Myfd Hear 81 U Ul R Wipd &1 78 ge
DR ATE?

1
14-%, 30
2

1
8= %, 50
3

2.

(20)



1
13- %, 60
2
3.

1
10- %, 70
2
4.

Correct Answer :-

—
V5]
| =

15) 28% of 0.4 + 48% of 0.20 = ? / 0.4 BT 28% + 0.20 PT 48% = ?
1. 0.308
2.0.208
3.2.008

4.1.072

Correct Answer :-

» 0.208

16) Sachin was twice as old as Ajay 10 years back. How old is Ajay today, if Sachin will be 40 years old 10

years hence? / TR, 10 T Ud B ST B ST BT G ATI (S 10 T GYTA T 40 T BT F1T, o1 39
3T fpaT g8T18?

1. 18
2.20
3.15

4.25

Correct Answer :-

17) In a group of 450 people who can speak either English or Hindi, 250 can speak only Hindi, while 150 can
speak only English. How many can speak both the languages? / b HHg T 450 AR t,)ﬁ % EIRIGIE PSR
fo=dl 9l T&d §, 250 Fae 3= Tt Wbd &, Tl 150 B S ar TPd ¢ | e a1 gHY HIITg
I Ao 82

1. 100

2.50
(21)



3. 700

4. 400

Correct Answer :-
e 50

18) In a group of 25 students of management, 12 have taken marketing specialization, 9 have taken operations
and 8 have not taken any of these. How many of the students have taken marketing and operations? / UdYT Cg

25 faenffal & v T, 12 3 AT fARugar At €, 9 7 SITR=E &1 forar & o 8 A 579 T 18 oft &Y
forar 21 39 9 fopam faenfiaY A wrdhfe ok o= iR @

1.4
2.7
3. 12

4.5

Correct Answer :-

. 4

19) A and B can do a piece of work in 25 and 20 days respectively. They worked together but A leaves after
some days and then B completed the remaining work in 11 days. The number of days after which 'A' left the

work is: / A 3 B TP BT B HHT: 25 3R 20 e # AT F% TFd §1 3 TH 1Y F F3d § RO
ﬁﬁgﬁsm%eﬁvﬁﬂaﬁ'@waﬁ& 1 fo T & qrr v 1 A &Y e forads ugma A 7
DIH BIS :

1. 10
2.5
3.8

4.3

Correct Answer :-

20) The sides of a triangle are in the ratio 2 : 3 : 4, and its perimeter is 100 cm. What will be the length of the
longest side? / FABIUI BT YSTT 2 : 3 : 4 F JuTd | & 3R $HBT URATT 100 T B 1 T T YoI1 B
TS T EHI?

1. 50 cm / 50 TH
2.22.5 cm/22.5 9|

3. 44.4 cm / 44.4 9T

(22)



4,333 cm /33390

Correct Answer :-

e« 444 cm/44.4TH

21) Chinu is younger than Minu by 9 years. If the ratio of the ages of Chinu and Minu are 7:8, then find the

age of Minu. / T, T & 9 a9 Ble1 81 afg A 3k W Ft 3y &7 3rqurd 7:8 ©, at W FY 3mg 71 B3|
1.42
2. 82
3.32

4.72

Correct Answer :-

e 72

22) During a month, Manjula purchased 3 books for Rs. 675 each, and 7 stationery Kits for Rs. 130 each. She
then sold the books for Rs. 750 each and the stationary Kits for Rs. 160 each. How much profit did she make? . /
TH EH F SR T A 675 30 TAS B 3 T TRIGH 3T 130 IUA YA Pt 7 A Irdt fore
TR | I TR st 1 750 $UA TS WR 5 foa 3iiv et 9nrft fbe &Y 160 00 Ude WR 34
fear1 3= fpean o urea e 2

1. Rs. 500 / 500 T4
2. Rs. 435/ 435 30
3.Rs. 215 /215 3040

4. Rs. 360 / 360 U

Correct Answer :-
. Rs.435/435 300

23) The average age of three boys is 8 years. Four years hence, the ratio of their ages will be 3 : 4 : 5. Find the
present age of the youngest boy. / 69 @S] B 3Td Mg 8 T4 81 TR T8 UYTd, SH] T T AJUTA 3 : 4 :
5 BT GH BT ASD B T 3T T B |

1. 6years/65|13f
2.5 years/Saﬁ
3.7 years/7a'5f

4. 8 years / 8 ¥

Correct Answer :-

(23)



. Syears/Sa"ST

24) The average of 5 numbers 9, 19, 10, X and 5 is 50. Find the value of X. / 5 TITT 9, 19, 10, X 3R 5 BT

3T 50 1 X T HH T B
1. 201
2. 207
3.206

4. 205

Correct Answer :-

o 207

25) Ravi can type a given number of pages in two hours; whereas, Ramesh can type the same number of pages
in three hours. If Ravi and Ramesh have been given an assignment that has twice the number of pages, in how

many hours can both of them together finish it? /Tﬁﬁqwq@aﬁaﬁﬁmﬁm%,wﬁ?m
U BT & Y81 oI fiF 5 H <150 &% Ppar g1 af I iR 301 &) o fear oiman & forad ggl &t
T@=IT gL B, <t fora vel § giFl U A1 5 AT Y Tdhd o2

1.2 hr 12 min/2 9¢ 12 ffFeE
2.2 hr 24 min / 2 ¢ 24 fiAe
3.3hr/39c

4. 1hr 12 min/ 1 9eT 12 T

Correct Answer :-

e 2 hr24 min/2 9c 24 i e

26) If x% ofy is 100 and y% of z is 150, then find a relation between x and z? /afe y DT x%, 100 % 3R 2 PT

y%, 150 §, 1 x 3R 2 & a9 # TS e B

3. z=3x

4, 27z=3x

Correct Answer :-

o 27=3x
(24)



27) Aamir buys six chocolates for one rupee. At what price should Aamir sell each of the chocolates, in order

to earn a profit of 20 %?/mﬁwmﬁwm@ﬁ'ﬁl anﬁ?aﬁmaWaﬁmﬁq\ww
ST AT forea {3 20 wfa=ra &1 @y siffd g12

1. 1/3™ of a rupee / T YT BT 1/3
2. 1/6M of a rupee / Th TUY BT 1/6
3. 1/5Mofa rupee / Y DU PRI 1/5

4,1/10M of a rupee / Th UL hT 1/10
Correct Answer :-

. 1/5Mofa rupee / Y YUY hT 1/5

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? / faf@mar

Tdl # 9 - 3 T va & S 9 &9 91 U g1 82

Heinz-Jurgen
Industriestr. 91,

Greven Westf, 48268

(i) Heinz-Jurgen
Industriestr. 91,

Grewen Westf, 48268

(ii) Heinz-Jurgen
Industriestr. 91,

Greven Westf, 48268

(iii) Heinz-Jurgen
Industriestr. 91,

Greven Westf, 48268

(iv) Heinz-Jurgen

Industriestr. 91,
(25)



Greven Westf, 48268

1. il

Correct Answer :-

29) Find the average. / 3Nd Ao
80, 87,94,5,18 & 28

1. 48

2.50

3.52

4. 53

Correct Answer :-
e 52

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: GG
3 S e §, iRy 3R Teme &1 v wu fAfd § 1 Taa Jaie uganee:
i.njuoi050600iujn

ii.njuoi050600iujn

iii.njuoi050900iujn

iv.njuoi050600iujn

1. 1ii

2.1v

3.1

4.1

Correct Answer :-

o il

Topic:- Science and Simple Arithmetic

(26)



1)
If¥3375 = 5 x Va . thenthevalue of'a is: 7 afg ¥/3375 = 5 x Va.dr 'a' @r

A & gl

1.27

2.37

3.15

4. 63

Correct Answer :-

o 27

2 Ifthe product of two numbers is 336, and their quotient isg . then the larger
number is:/ TG & T3 F IR 336 §, R FFE a?l?rqa—{g%‘ GUEE R
IGERZCICIIR

1.24

2. 18

3. 14

4. 28

Correct Answer :-

o 28

Solve for 'x' : w =1/ w =1, dI 'x' &l HT AT AT
(—x)(a+x) (1—xd(23x)



D Iy the given figure, if 2A = 110° and 2C = 130°, then ZAEC = Cf Tew ae = H, 9fg

sA=11003T ,C=130°. T zAEC=

A
- B

E<
»D

c

1. 95°

2. 120°
3.100°
4. 105°

Correct Answer :-

« 120°

5) Inthe given figure, ABis the diameter of the circle with center 'O'. If 2£DOB = 140° then £/ ACD
= [ fev a7 == &, AB eg 'O AT T &O1T O &1 I «DOB = 140° 4

2ACD =
D
o
e © B
1. 25°
2.30°
3.15°
4.20°

Correct Answer :-

. 20°

6) ‘Nucleus in the cell’ was discovered by ./ BIAPT | AP’ BT MTHR GIRT T
T YTl

1. Robert Hooke /?ﬁé@
2. Robert Brown / 3oTaC T3

(28)



3. Purkinje /W
4, Virchow / ftraf

Correct Answer :-

e Robert Brown/ ?-:::ZT:TEEFW

7) Skeleton is made entirely of cartilage in: / FHTA STH TII TRE A SUIR | §T B¥T 82
1. Star fish / TRTHIA

2. Rohu /G

3. Tuna /¢l

4, Shark/w

Correct Answer :-

« Shark /T

8) A sum of money deposited at 2% per annum compounded annually becames Rs. 2601 at the end of

two years. Find the sum deposited./mﬁﬁwmz% Mmﬁwm@wwzaﬁ%
HHTYA TR 2601 FU §I 715 | STHT B T YARTIRT 1A BIoIg |

1. Rs. 2480 / 2480 30
2. Rs. 2310/ 2310 30
3. Rs. 2500 / 2500 U4
4. Rs. 2020 / 2020 304

Correct Answer :-

« Rs. 2500/ 2500 304
9) By what number should (-8) be multiplied so that the product may be equal to (-12)73? / (-8)3 &I

e HeT & Ton foaT ST b UMTed (-12)-3 & SRTSR §1 9IE?

8
27

(29)



2
a7

Correct Answer :-

10) A rectangular piece of land is 60 m x 35 m. From its four corners, quadrants of radii 7 m have

been cut. Find the area (in mz) of the remaining part. / 'ﬁlﬁla?W AP R WW'FIT'J 60 Wt x 35 H B
3P IRI FIAI |, 7 /Y Hoursit arat Tqufr @re e e v UrT o1 SFwd (+H.2 #) [ i

1. 1946
2. 1982
3. 1876

4. 1864

Correct Answer :-

« 1946

11) Simplify: (2m + 3n)? + (2m - 3n)2/ (2m + 3n)2 + (2m - 3n)2 B WA B
1. 4m? + 9n?

2. 4m? - 9n?

3. 2(4m? - 9n?)

4. 2(4m? + 9n?)

Correct Answer :-

« 2(4m®+ 9n?)

12) ABCDis a parallelogram and 2D = 75°. If AB is produced to E, then ZCBE = ./ ABCD T&
TR IgU & 3R 2D = 75° 81 afe AB H) E 9% ST ST 8, @ 2CBE=_.

1. 125°
2. 95°

3. 105°

(30)



4. 115°

Correct Answer :-

o 105°

13) One angle of a quadrilateral is 117° and the other three angles are equal. The measures of the

equal angles are: /Wﬂﬁﬂﬁﬁ@iﬁﬂ 117° § 3R A9 <fI HY01 THA § | GHH HI0N B 719 77 §:
1.73°
2. 89°
3.78°
4. 81°

Correct Answer :-

14) Find the coefficient of x2, when 9x -4x® + 2x4 - 3x3 is divided by 6x2./9x7 -4x% + 2x* - 3x3 wr afe
6x2 & FAUTRTa 81 SITa B, <t x2 1 I i S|

1.-3

Correct Answer :-

|

15) A merchant bought 300kg rice at the rate of Rs. 25 per kg and sold it at a profit of 5%. Find the
selling price per kg. / T STaY 7 300 fH3T. Amae 25 S ufe faum. Teu W wiler 3R 5% a1y o o= faar)
ufa foeu. faska gea 91a S|

1. Rs. 20.75 / 20.75 348

2. Rs. 18.50/ 18.50 30
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3. Rs. 15.75/ 15.75 304

4, Rs. 26.25 /2625 300

Correct Answer :-

e Rs.26.25/2625300

16) A hollow cylindrical pipe is 14 cm long. If its outer and inner diameters are 15 cm and 12 cm,

respectively, then the volume (in cm3) of the metal used to make the pipe is: / TP TWEd da-IPR UIgy
Pt Aars 14 9. 31 3f 39F T1ed Ut Wadt s s 15 J. qur 12 . §, A wrsv TEH A wgad uig o1

AT (FHL3 #) fF g
1.3286
2. 3564
3.2844

4,2982

Correct Answer :-

« 3564

17) Which planet has the least period of revolution? Acx:) g B qdH gRpHuT Gy ﬁ?ﬁ %?
1. Mars / H7d

2. Mercury / d¥

3. Venus / [sh

4. Earth / 'Q?Zﬁ

Correct Answer :-

» Mercury / §¥

18) A battery is used to: /aa'ﬂ HTITN A= $ ﬁl'({ ICRISIGI %:
1. Safeguard against short-circuit / Tiic-gfe § gRE & fom

2. Measure electric potential / %‘ggq'd fqua & 41U+ & fag

3. Measure electric current / ﬁ_ggqﬁ ¢RT &A1Y & forg

4. Maintain potential difference / foyaiaR CEIlY RRCE i) ﬁ‘lt{

Correct Answer :-

« Maintain potential difference / ICEGIGEY CEILY TG b ﬁ‘l’Q
(32)



19) Choose the odd one from the following options: /ﬁyﬁr@aﬁmﬁﬁﬁwmw P
1. Huddle together / U& T g[S
2. Webbed feet / SeiaR &R

3. Streamlined body / JoAIRYT TR
4, White fur / e ar

Correct Answer :-

o White fur / 9Wbg Jar

20) The product obtained from coal, used as a starting material for the manufacture of perfumes is: / &

formtor & fore ke armit & = & v fosar s areT, Ssiad | v SdTe §:
1. Coal tar / PIAIR

2. Compressed natural gas / Ulfed UTg T 1

3. Coal gas / BRI T

4. Coke / PIH

Correct Answer :-

o Coal tar / PITAR

21) The image formed by the plane mirror is: / THd E'd:UT GRT fAfda ufafas @?IT %:
1. Real and inverted / ARG Td yfaenad

2. Real and erect / ARAA® IG) Fegaif

3. Virtual and inverted / STHTIT g IREIEG

4, Virtual and erect / STHTIT T Gv’_@c?ﬁ'ﬁ

Correct Answer :-

e Virtual and erect / STHRIT g Feaiidf

22) Bone is hard due to the presence of: / Y T ot SUfRIfT & FRUT HBR Eﬁ?ﬁ %:
1. Sulphur and phosphorus / dethX d¥Yl I IRY

2. Calcium and magnesium / HTeRIH Tg AHIRRH

3. Calcium and phosphorus / HiRTH T BB IRY

4, Silica and calcium / RIfcTepT ud Sy

(33)



Correct Answer :-

 Calcium and phosphorus / FiRTH aU BB RY

23) Lack of oxygen in muscles often results in cramp of the muscle tissue. This is due to: / AR  ifeRitea &

3HTT F1 gRurfe Ura: Uil Sae & Sesd & U H gidl 81 391 T & PR g 8:

1. Conversion of pyruvate to lactic acid / l-llsav\ac &1 dfded 3 | YT

2. Conversion of pyruate to glucose / UIg¥dc &I I EEESTIGRY

3. Non-conversion of glucose to pyruvate / ‘q\d’)\lw d[ Jig=dc T TR0 | E:;I"-l

4, Conversion of pyruvate to ethanol /W’C’ wqﬁaﬁw

Correct Answer :-

o Conversion of pyruvate to lactic acid / UIg¥dc &l dfded o H S UiaRUl

24) Motion of which one of the following objects is known as periodic motion? / fFafafead 9 foa a\ﬁa?r
Tfa, 3rmael Tfa & =9 | S e 8

1. Flying bird / Sl §31T geft
2. Aeroplane /Eﬂ]"éﬁm

3. Train /i_Q'TTI'I?ﬂ'

4. Pendulum / AT

Correct Answer :-

. Pendulum / A&

25) Soil having big lumps is crushed by: /aﬁmmﬁﬂﬁ@aﬁsﬂﬁ?mwﬁmﬁm%
1. Tilling / TG

2. Levelling / JHdA

3. Sowing /§\3'|'|_5c

4. Ploughing /\_{l?l'l_sc

Correct Answer :-

o Levelling / HHAA

26) The heights of 10 girls were measured in cm and the list is as follows:

132,128, 146, 141, 139, 137, 142, 152, 135, 120. How many girls have heights more than the
mean height?
(34)



/ 10 wrsfal o1 Harg It & ardt 18 et &bt e §:

132, 128, 146, 141, 139, 137, 142, 152, 135, 120. fra-l asfeal F SHars e Ha€ A 4fYe 82
1.3

2.6

3.4

4.5

Correct Answer :-

27) An animal cell lacks centriole/centrosome. Which of the following cell function gets interrupted? / Yh U] Cd|

PP A IRDE / TRBD P AHE g1 81 3T = & A o9 T 1 a1fea giar g2
1. Reproduction / TSI

2. Nutrition / TIYOT

3. Excretion / 3G

4. Respiration / R

Correct Answer :-
o Reproduction / USIHH

28) The amount of heat energy that is required to change 1 kg of a ice into water at atmospheric pressure at

273K is known as: / 273K aIgHS A1 gaTd R 1 fHum 9 &) 5a A ufikafda @ & fore smazas s
Solt Y AT Hgarl &:

1. Latent heat of vaporisation / BT DY Tt HTHT
2. Latent heat of melting / T¢I 7)) RIS RS

3. Latent heat of freezing / %WUT I Tt ST

4. Latent heat of fusion / Geid bl RILSRCI

Correct Answer :-

« Latent heat of fusion / I Gl &I HTHT

29) Cross between related crop species is called: / YdfUd wId USITiadl & 99 pid dedrdl %:
1. Inter generic hybridization / 3R Tiffa eur

2. Inter specific hybridization / 3[R CIRERSER

(35)



3. Inter varietal hybridization / 3[R fafay Taor
4. Induced mutation / ik IaRada

Correct AnsWer -

» Inter specific hybridization / 3R ﬁm GH0

30) An example of a branched cell in humans is: /ﬂﬂﬂﬁ H nfad BT o1 Th 3ol %:
1. RBC /@TeT 1ER- HivTehT

2. WBC /8d & 1ER- BT

3. Spindle shaped muscle cell /?@ & 3THR B UG HIRIDT

4. Neuron / A IRTET

Correct Answer :-

« Neuron / AA®IRIHT
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